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TEMA 4: INTRODUCCIÓN A LOS SISTEMAS DE EDO DE PRIMER ORDEN 

Resultados Experimentación Activa 

01-E. a) Solución General: {
𝑥(𝑡) = 𝐶1𝑒−2𝑡 + 𝐶2𝑒−5𝑡

𝑦(𝑡) = 2𝐶1𝑒−2𝑡 + 5𝐶2𝑒−5𝑡 

b) Solución Particular: {
𝑥(𝑡) = 4𝑒2𝑡 − 2𝑒−3𝑡

𝑦(𝑡) = 𝑒2𝑡 + 2𝑒−3𝑡     

c) Solución General: {
𝑥(𝑡) = 𝑒−𝑡[(−𝐶1 + 𝐶2) cos(2𝑡) + (−𝐶1 − 𝐶2) sen(2𝑡)]

𝑦(𝑡) = 𝑒−𝑡[𝐶1 cos(2𝑡) + 𝐶2 sen(2𝑡)]
 

d) Solución Particular: {
𝑥(𝑡) = −4𝑒−𝑡 + 𝑡2 − 3𝑡 + 9

𝑦(𝑡) = −4𝑒−𝑡 + 𝑡2 − 2𝑡 + 3
    

e) Solución General: {
𝑥(𝑡) = 𝐶1𝑒2𝑡 + 𝐶2𝑒−2𝑡 + 𝐶3 cos(√5𝑡) + 𝐶4 sen(√5𝑡) −

2

5
𝑡

𝑦(𝑡) = 𝐶1𝑒2𝑡 + 𝐶2𝑒−2𝑡 −
5

4
𝐶3 cos(√5𝑡) −

5

4
𝐶4 sen(√5𝑡) − 2𝑡

 

02-E. a) Solución Particular: {
𝑥(𝑡) =

4

5
𝑒3𝑡 −

4

5
𝑒−2𝑡

𝑦(𝑡) =
12

5
𝑒3𝑡 −

2

5
𝑒−2𝑡

              

b) Solución Particular: {
𝑥(𝑡) = 𝑒𝑡

𝑦(𝑡) = −𝑒𝑡 

c) Solución Particular: {
𝑥(𝑡) = −1 + 2𝑒−2𝑡 cos 𝑡 + 5𝑒−2𝑡sen t

𝑦(𝑡) = −
1

5
+

1

5
𝑒−2𝑡 cos 𝑡 +

17

5
𝑒−2𝑡sen t

 

d) Solución Particular: {
𝑥(𝑡) = −4𝑒−𝑡 + 𝑡2 − 3𝑡 + 9

𝑦(𝑡) = −4𝑒−𝑡 + 𝑡2 − 2𝑡 + 3
  

e) Solución Particular: {
𝑥(𝑡) =

9

16
𝑒−𝑡 +

5

4
𝑡𝑒−𝑡 +

7

16
𝑒3𝑡

𝑦(𝑡) = −
15

8
𝑒−𝑡 −

5

2
𝑡𝑒−𝑡 +

7

8
𝑒3𝑡

 

 


